Economics 101

Spring 2006

Answers to Homework #2 

1. a. Equilibrium price = 6, Equilibrium quantity = 2

b. Consumer Surplus= (20/3-6)*2/2=$2/3

Producer Surplus= (6-4)*2/2=$2

2. a. For Pepsi, the demand curve shifts to the right as people’s preferences have changed. The supply curve for Pepsi does not change. The equilibrium price and quantity in the Pepsi market both increase. For Coke the demand curve shifts to the left and the supply curve does not change. The equilibrium price and quantity in the market for Coke decrease. This is because Pepsi and Coke are substitutes.

b. 1. The demand for DVD players shifts right. The equilibrium price and quantity increases.

    2. The supply for DVD players shifts right. The equilibrium price decreases but the equilibrium quantity increases.

    3. The supply for DVD players shifts left. The equilibrium price increases but the equilibrium quantity decreases.

    4. The demand for DVD players shifts left. The equilibrium price and quantity decreases.

3. a. The equilibrium price is $30. The equilibrium quantity is 20.

b. The price in the market will equal the price floor price of $20. The quantity supplied is 10 and the quantity demanded is 30.

c. There will be an excess demand of 20 health club memberships.

d. No, with an effective price ceiling price of $20 the market is only willing to supply 10 units even though demanders would like 30 units at that price.  Relative to the original equilibrium price of $30 per membership the price ceiling results in less exercise being provided (10 memberships) despite the existence of additional demand.

e. The cost to the City Council of this support program will equal to the direct cost of the support program = 20 (surplus) * 40 (price)= $800,

minus the profit from selling the memberships to its employees 

20 (memberships)* 10(price)=200

so the total cost to the City Council will be only $600. 

f. The subsidy program will cost ($40-$20) (refund amount) * 30 (total quantity)= $600

g. The two programs have absolutely the same cost and achieve the same effect of supporting the price floor at $40. 

4. a) The equilibrium price is $80 and equilibrium quantity is 150

b) The consumer surplus is $9000 and the producer surplus is $2250.

c) After the tax program, the supply function becomes P= 60 + (1/5) Qs . Therefore, the new equilibrium price is $88. The new equilibrium quantity is 140. The producer price is $78.

d) Tax paid by a consumer is $1120.

e) Tax paid by a producer is $280.

f) The tax revenue is $1400.

g) The dead weight loss = ½ (150-140) (88-78) = $50.

